| Efficiency vs Dxy |

o
©
[

efficiency vs dxy

o
o))
[

0.4t

o2l it

...................................................

L S S S S T

..............................................

J_.l.Qll

Ratio

0.95

| Efficiency vs Dz |

S E50-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

V4
=
N

efficiency vs d
o
©

o
o))
[

0.4

—=— DOQM_MKE_TT retram

—e— DOQM”mKFIt_TT_NEWdefault_specPLess1
—— DOM_mKkFit EWdefault_specPLess2
—+— DOM”mKEFit EWdefault“specPLess3
—— DOQM”mKF

=
!
8
*

.....................................................................

.....................................................................

.....................................................................

.....................................................................

10

2030
TP dz (cm)

—“NEWdefault“specPLess4



	Contents
	Page 1


